F M A & A £ B @ R U # H F

BAAZE= HEERICTERAE RE) &Ef CUTHM) , ATH@EAKES - fif) - SEREZERH) ZAHL THREY KT,
BE= 11 - EFRSOUFERHLTREE V. BIX—LTREVELET, (—EFI5E) SHTE2R158 B’iE
ERM600 (BE) OO, 28 (600M) ZRETRHLTKEEV. LY—NYITSITHREVNELET, |:| © . SEERRE (BEHTIHFE FTHEBLADELSEEL, )
2L (I Iy MBS - BIRUESICEY . EAFERUERDNNMDYET . BFRTIARSHVEDELSESTL,
=] 5§ Bl X R a9 B o mfF 7 [ B ¥ R (839 | BB 3% - B E [ B M| % ¥ [5x0) M & % LI i * HB lsxo)| Fl 17 &
R %A & (% #m| 3,000 [600GEE)] 1,100 |== [EEHEES 45] 600 [180E1F)] 113 FESREERE 1 1 5] 400 [3100F)] 238 EEEN- & 1,400 [360(51F)] 579 [EmR19E3E
Gl 1t 1] 3,000 [600GR=) [ 1,005 |5 [EfFERES 55 700 215E0F) 159 FEERERE 1 55 400 [310(50F)] 263 BIR RHOBHDH 550 [310(515F) 360 [SF1TESH
SE 1t 1] 3,500 [600GEE) | 1,515 |== [ELHFRES 65 700 [215(51F) 145 FEEERE 4 2 51,400 [310(57F) [ 250 BETIR — i) R Bk 800 [360(t1F)| 860 |FmE23&E3H
EOBROR %ﬁ 3,000 [600GR=E) | 1,565 BHRFRES 85| 600 [215(51F)] 157 FEEEHRE 4 5 51,300 [2153F)] 210 —BRIR AR 600 [310(515F) 397 [mB#1625108
m R W R 4,000 [600CG82)] 1,380 BHFFRES 95| 600 [215(51F)| 145 FEEERE 4 7 51,300 [3101F)| 245 Hh DEEIE 750 [360(51F)[ 675 [Frr2EE9H
N R 11 2,500 [600GRE) | 1,440 | |[EHRE6 05 600 215(H1F)] 152 FESEERE 4 8 21,300 [310E1F)| 245 R 7 VT DREER 900 [360(41F)| 951 [FR6ETH
™ B & #F I0]2,500 [600GE2)] 1,500 BHFRE6 15| 600 [215(81F) 155 FEEEHRE 4 9 51,00 [215(3F)] 190 BMEEMEERB 800 [360(t0F) 702 [FRRTEIR
detes - @ mt] 4,000 [600GE2) | 1,865 BPRFRE6 35| 600 [180(51F)] 117 FEEEHRES 051,300 [2153F)] 190 ERPN 600 [360(51F)[ 627 [FRR9E6H
B 4 B £] 5000 [600GR2)] 1,755 BPFRE6 45| 600 [180(51F)] 111 LIRSS 1 51,200 [310051F)] 250 % 5 B 1,000 [360(41F)| 615 |Fpk10E2H
& B B £t 4,000 [600GE2)[ 1,680 |== [ErmEEe6 52( 1,000 B10EIF)] 252 BENICE =3 1,000 [360(t0F)[ 508 |Fm105E108
=B - TREK]6,000 |600382)] 1,800 BPRFRE6 65| 700 [215(501F)] 148 EEINAETSGE 1,000 [360(47F)| 500 |Frk18E2H
& I #i@] 5,000 [600CGR£)] 1,445 BRAEE6 75| 100 215(51F)] 157 ¥ B £ 2 [BMm| % # |66 E it K B o\ A 1,100 [360(41F)] 660 |Fri265E108
ROt #R T1[3,000 |600GRE)| 1,470 |== [EhMIEEG6 82| 700 [215(K1F)] 144 g m )l B = 1,400 [360(51FE)| 680 |Em27E2R
m ot & 16,500 [600GE£)] 1,550 EmEE6 95 700 215F)| 162 AEIXERZEAREE £ (3,500 |360(80F)| 715 —BRIIRD200E 700 [360(51F)[ 745 [FRR30E2H
B i f® I 5,000 [600(FRE)| 1,545 |55 |EEAAZEET7 0S| 700 [215(81F)] 161 shinjges D SR EX
B i &  1v| 5,500 [600GEE) | 1,460 |== |ErAzeE7 18] 800 215(80F)] 136 PREIXEEFHRSEN T | 3,500 |360(50F)| 721 —RBINRDTIRIE T 1,300 [360(80F)| 760 |Fmk31E28
B & V[6,000 [600GES)] 1,610 == [2EFEET 25| 800 [180(51F)] 121 a3 m o &8 % 1,300 [600GB®)] 1,065 |S&H3E28
ot VI 6,500 [600(3E2) | 1,345 BoiesE7 38 800 [215(41F) 184 slagRsEtt 1 1,100 |360(H0F) | 692 %= B B % A 1,000 |600CG38=)| 1,090 |$F0452H
3E M 55 R 3,500 [600GER) | 1,620 | [EEHEE7 48] 800 215(0F)] 149 PREEL BHER HF 1,300 [360(471F)] 660 [SF06E28
SE i B A fF 1[3,500 [600GRE)[ 1,835 |== |EmEE7 58] 800 215(0F)] 136 FIRFE 1,300 |360(t0F) | 665 SHEREEX
3E it BCSA #m I 5,500 [600GR£) | 1,660 SHMRET 65| 800 [215(51F) 183 e 6 —iEm I R AE S HAR 1,500 [360CHDF)| 970 |RFI6EE3R
SE it BCA R M) 6,000 |600(38=) | 1,680 BemEET 75| 800 [215(41F)] 157 hERRSERE T 1,600 |600(R&E)| 732 EYCDD,
SEH A SIRER 1]3,100 [6003R2) | 1,480 BprE7 85 800 [215(51F) 162 SRR —FEERED At — 1,300 |310(47F)| 340 |[$F06FE108
SEt R SRR 0 4,500 |600G8£) ]| 1,795 EomEET7 02 800 [215EF1F)] 170 EEHEXET 3,720 | 600CGE) | 1,135 |=% = H 1,500 360(41F)| 950 |S#17828
SEH SR EREL] 5000 [600GR2)] 1,685 BEHRRES 05 800 [215(51F)] 147 3
SEHEH SR FEEIV] 5,500 [600G82) | 1,690 SiFRES 15| 800 [215(51F) 160 BRERIfREN T 2,600 [360(H0F)| 655
& B 8 fw| 5,000 [600GER) [ 1,430 |== [E=mEEs 22| 800 215(H1F)| 174 - KOTLY R B O [ % B [sco] THTE
= & fm 1]3,000600GE2)[ 1,425 |== [EHEES 3] 600 215(51F)| 144 —IEIRERTRESRAT | ) 450 | 600(3RE) | 870 —BREIRORELS 300 1180(81)| 80 |i03E4n
= & f& 15000 [600GE2)] 1,505 |== [EHEES 48[ 800 215(01F)] 177 SRS MzWTELoYI Y 300 [180(51) 85 |SAN3E108
= % #5500 [600GE2)] 1,620 S prFERES 52| 300 [215(51F)] 156 FREERE 4,070 | 600CE=2) | 780 FEE R 300 [180(40F)| 105 |S#14ETH
f# # #im] 4,000 [600(38=) | 1,850 BRFReE9 75| 500 [215(51F) 165 |== |orz= *x B o0 5 300 [180C47F)| 70 |$F14&E98
SE X # 5t #w[ 3,000 [600038£) [ 1,570 S5HRE 88| 520 [215(EIF) 155 |q |BEH Wﬁ S8R | 2,600 | 360(41F) | 660 —BEINEDOAHE 300 [180(40F) 85 |&#04F12H
SERBEARSHE 1] 3,500 [600GE2) | 1,660 | [EEMEE9 95 520 180IFE) 130 |55 [wpmmry BE 5 & & I 300 [215(0F) 170 |[$#05E28
SERBCA S| 4,500 [600(RE) | 1,660 —ERIRZERTIRAERRT | 2 620 | 360(H1F) | 660 EEF - MTEAE TORR 300 [180(H0F)| 85 |#N5EE108
SERBEAR SR 5,000 [600G82) | 1,685 1L T —BEIRDOEM 300 [180(41F) 65 |SF17E1S
SERBGARSHRIV] 5,000 [600G82) [ 1,735 . . L . IR T B 2,400 | 360(51F) [ 590
SERBA R V] 6,000 [600GER)[ 1,630 | [KARICEHDBEVTITMEZETT | [anman TEEN\VFJvD | B @ | % ¥ [mc) ] TOE
E X B ¥ 6 1[3,500 [6000RS)[ 1,670 SEDRTNHDEDIEAZRURD | |@Iiak - 4eBIRER | 1,980 |360(51F)| 485 EHhLDIEFERLU 300 [180C1F) 65 [HAI5ESH
S % #F 11]3,000 [600(R&)] 1,910 YFEEANIRTTHR T ERYE T, SRR
SE R £ & 1] 5,000 [600GR2)] 1,470 HONUHTTELIESL, EERERRER 3,129 [600(3R<)| 1785 EER
E B % fis V] 5,000 [600022) | 1,610 SHER B 9592 TLo—rtys752] EIRE ]
R X % =t %m| 6,500 [60003R=)] 1,610 BFXERRXEREASE  [3,272 [360(51F) | 725 < (B 3anblp) REIEEE
B % o = fm| 5,000 [60008=)] 1,475 EEE)3 HEE AR ENGED) - -
B b o = #m| 4,500 [600CGR=)] 1,610 SheillxE wiammRer| 2 464 | 360(51F) | 610 2509%% 2158 (51F) - -
B B & & 76,700 [600082)] 1,665 FREEM 5009%  |310M (505F) - -
EFE e (E) [1,500 [360(81F) [ 691 BLERESERHT 2,684 [600GRE)| T15 1000957 360 (51) -
E A () 1,500 [600GRE)[ 718 B - A FEEED 4,000 9 55 600F9 (iﬁﬁ)
B 8 #r R =0] 2,000 [360(BDF)[ 710 T310-0034 BLBEEERIV 2,618 |360(51F)| 650 [ 24,0009 F | =i
0 B = = b 2| 1,200 |360(05F)| 558 FIREKETRET2—1-15 SERIEE2 XA & U HEDE: ?%zfmgtm&@n
RIS ok R 7| 1,000 [3T0EIF) [ 420 |5 | XIBEIFESREE SIER sofEEY 3 —iE) | R ERERGRER | 2,849 |360(80F)| 735 X TREEMEEREL DHLY—INY I TS ARBADT A Xy
TEL:029-225-4425 FREEYT FIOT, MEEEMEERE] £22TEEMBADKEICE, EXIC
HEBEY - SEEBEY 4,312 [360(40F) | 735 O S 3 2EREERES Y =T,




